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SECTION A (60 marks)

There are 30 questions in this section. Answer ALL questions. Choose the best answer for each question.

1. Ken and Tracy plan to establish and operate a restaurant together, in which the m)"
would not lead to its closure. Which form of business ownership should thez adopt?

A. partnership

B public corporation

C. private limited company
D listed company

o

23 What is the importance o siness?

(1) optimise utjlisation-of organisational resources
?) esﬁﬂ'ﬁ@up_@ organisational structre
A3) achiéve organisational

A. (1) and (2) only
B. (1) and (3) only
C (2) and (3) only
D. (1), (2) and (3)

38 Which of the following descriptions of ‘debit’ and ‘credit’ in accounting is/are correct?
(1) ‘Debit’ means an increase and ‘credit’ means a decrease in the amount of an account
) ‘Debit’ side refers to the left-hand side and ‘credit’ side refers to the right-hand side of an
_ account. - A
3) Debit’ balance is positive and credeakin/'wl__,S_Llsganve.
A. (1) only
B. (2) only
(e, (1) and (2) only
D. (2) and (3) only
4, Which of the following descriptions of the Hang Seng Index is/are correct?
e ————— - L
) ‘Utilities’ is a sub=index of the Hang Seng Index.
) It indicates the dividend policies of the companies of the constituent stocks.
3) Itisa platfon_rl_cz_’uS_igggguuai_sﬁ_g@jIAL
A (only
B. (1) and (2) only
C. (1) and (3) only
D. .(2) and (3) only

Which of the following effects on the assets, capital and liabilities brought about by the respective
transaction is correct?

Transaction Asset Capital Liability
A. Owner injected his own motor van to the firm. increases increases increases
B. Received cash from a customer as settlement of his  increases unchanged decreases
account.
€. OWwner repaid a bank loan for the firm by his . unchanged increases decreases
personal cheque.
D. Paid rent of the firm for the current month 11 cash, decreases  unchanged decreases
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6. Which of the following descriptions of a SMART goal are correct?

1) It should be ?u tified..

) There should be an expected completion time.

3) The methods of achieving the goal should  be stated clearly.

A. (1) and (2) only

B. (1) and (3) only

C. (2) and (3) only

D. (1), (2) and (3) -

(1.7  There are different departments in a company. One of the goals of the compa.ny is to 1mpr

‘"’ quality of its salespeMrm S5 T2 :
subordinate, Tim, to design trainin, mes for the salespersons. Tlm reports to the human resources
manager only. Which of the following principles of effective management are illustrated in this scenario?

(1) Unity of direction
) Unity of command
3) Division of work

(1) and (2) only
(1) and (3) only
(2) and (3) only
(1), (2) and 3)

8. The following information is related to an investment project:

Initial cost: $15.000
Discount rate: 10%
Investment period: 3 years

The project will generate cash flows of $6 000 at the end of both Year 1 and Year 2. If the cash flow at the

end of Year 3 is , the net present value of the project is close to zero.

A. 4587
B. 5083
C. 6 105
D. 7 965
2, A firm’s current ratio is 1.8:1 and the acid-test ratio is 0.9:1. Which of the following statements is correct?

A. The amount of working capital of the firm is negative.
Half of the curgent assets of the firm are inventory.

B.
(e} The l@i and proﬁtablhty of the firm are poor.
D The firm has su: settle its current llabllmes

Which of the following is/are feature(s) of Hong Kong’@y?;
et N

1) Most businesses in Hong Kong are small and medium enterprises.
2) Hong Kong is a net exporter of raw materials.
3) Hong Kong does not maintain trade barriers on imports.

S

(1) only
(2) only
(1) and (3) only
(2) and (3) only
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11.

133

14.

15.

Which of the following is/are limitation(s) of using financial statements?

1) The financial statements mainly record past transactions, which may not reflect the future.
) The inter-period comparison of the firm’s performance is difficult as the assets in financial

‘ statements are generally reported at their market values, which fluc ime.
3) It is difficult to compare the performance 0¥ ditferent firms in the @ industry @
would adopt different a&‘i“‘ﬂ‘fl“i_—) thods. T

A. (1) only

B. (2) only

C. (1) and (3) only
D. (1), (2) and (3)

A bank has the fbllowmg departments: deposil lowdm_mnmm:d__mﬂ_’ﬁ%;ncial
planning. Under the personal financialcplan gmg department, there are Hong Kong Island, Kowlo and
&w Territories divisions. State the forms of departmentalisation adopted by the bank.

()] by product
(03) by function
3) by location

A. (1) and (2) only
B. (1) and (3) only
C. (2) and (3) only
D. (1), (2) and (3)

Which of the following descriptions of the flow of the accounting cycle is/are correct?

(1) Right after the p@mﬁes to ledgers, period-end adjustments are made.
) Right after the preparation of trial balance, financial statements are prepared.

3) Right after the confirmation of business transactions, books of original entry are recorded.

Al e -
A. (1) only

B. (3) only (
C. (1) and (2) only ’
D. (2) and (3) only

A trading firm earned an interest income of $8 000. How will the firm’s gross profit and net profit for the
year be affected? S R

Gross profit Net profit

A. unchanged increases .
B. increases unchanged

C. unchangegd unchanged

D. increases increases .

Ignore other factors, which of the following will lead tgfatecrease bthe share price of a listed airline
company? — - —
1) arise in interest rate S

) arise in fuel price

3) the airline company issued a profit warning

'\__
A. (1) and (2) only
B. (1) and (3) only
C. (2) and (3) only
D. (1), (2) and (3)
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16.

| 17.
|

18.

20.

19.

The following are the differences in characteristics of two partners in a partnership:

- Partner A Partner B
earing of liabilities not required required
require

introduction of capita not required
involvement ns not required not required
T e—

" Partner Aisa (1) partner, while Partner B is a (2) partner.
——

(M 2)
A. nominal limited
B. nominal general
€ general limited
D. limited nominal

Which of the following statements about authority and responsibility are correct?

(€Y} For a job position, responsibility should be balanced with authority.
) Authority and responsibility of managers increase progressively from low-level to top-level.
3) Delegation is the assigning of authority and responsibility of work from the superior to the

subordinates. |

A (1) and (2) only

B. (1) and (3) only

C: (2) and (3) only

D. (1), (2) and (3)

Which of the following transactions should be recorded in the purchases account of (supermarket? )
1) purchased a freezer for storing ice-cream

(03) owner took some canned food from the warehouse for his family use
3) received a dis a supplier for bulk purchase of goods

A. (1) only

B. (2) only

C: (2) and (3) only

D. (1), 2)and 3)

Which of the following are the rights of an investor in debentures?

(1) can lodge a complaint if there i&ryjﬁgg_udué by the inyestment agent

) can ask for the rationale behind an investment recommendation ,/
@3) can cancel the Tivestment transaction in the cooling off period
s ol

A. (1) and (2) only
B. (1) and (3) only
@ (2) and (3) only
D. (1), (2) and (3)

Jeffery is_the ownel firms, ) For the sake of convenieqce, he record§ all the purchasgs of the.fwo
ame book. Which of the following accounting assumpﬁonsﬁﬁc@venﬁons has

firms.in
been vio case?

A. Accrual

B. Historical cost
C. Going concern
D. - Business entity
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21.

22

23.

24.

258

Which of the following statements is not correct?

A. The human resources department recruits an accounting clerk according to the requirements set

by the finance department. '
llected by the marketing department to set

B The information management department uses data co
the product price. @

C. The risk management department assesses the risks of using/too and u the
operations department. .

D Thé finance department obtains a loan for the operations department to expand production
capacity. -

Which of the following companies@Ges noLRlfil its social responsibility t_@
—m— -

A company adopts a strict credit policy for its customers.

A company does not dis end o ordinary shareholders.

A company charges aigher price than its competitors selling the same type of product.
A company does not provide training and development opportunities for its employees.

oow»

The following balances as at 31 December 2019 were extracted from the accounts of a firm:

$
Inventory 17 500 *
Bank 27 000
Trade payables 30 800 .

Trade receivabl 16 400
Short term loaf to employees 8000
Bank loan 13 000

What is the liquid ratio of the firm?

e —
1.12:1 >
1.57:1 ——
1.67:1 ‘o
2741 =
Which of the following are the benefits brought about by globalisation to Hong Ko?
TR e .
(1) more sources of capital
2) introduction of new technology
3) lower production cost
A. (1) and (2) only
B. (1) and (3) only
C. (2) and (3) only i
D. (1), (2) and (3) B

Which of the following statements about the Mandatory Provident Fund (MPF) System is/are correct?

1) Empcan transfer the accrued benefits in their contribution accounts to an MPF scheme of

their own choice.once-a-year. e
) Self-employed hawkers are not required to join an MPF scheme.
3) If the income 0 employee is below the minimum relevant income level, both the employee

and the employer are not required to make mandatory contributions:——————

A. (1) only

B. (1) and (2) enly
C. (2) and €3) only
D. (1), (2) ank(3)
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28.

298

30.

T-he number Firm A and Firm B are the same. Firm A has a flat organisational structure while
Firm B has a tall organisational structure. Which of the following statements is/are correct?

1) Firm A is more responsive to market changes. ’ - S

) There are mmanagemem in Firm A. {0 o

A3) There are more managers in Firm A. ! : ) i
Emnsiah L Dol : |

A. (1) only |

B. (2) only

(63 (1) and (3) only

D. (2) and (3) only

Which of the following statements about multinational corporations is/are correct?

1) Multinational corporations are public limited companies.

) Multinational corporations operate in different countries.

3) A local company becomes a multinational ?o’rbm by raising capital in other countries.
A. (1) only

B. (2) only

C: (1) and (2) only °

D. (2y:and 3) only " <-=. .

Which of the following descriptions of the Main Board and GEM (previously known as Growth Enterprise
Market) are correct?

1) More companies are listed on the Maip-Board than en GEM. . =

2) ‘Management continuity for at least th preceding financial years’ is one of the basic listing
requirements for applicants to list on the Main Board. T

A3) The Main Board was set up for large and éstablished companies.

A. (1) and (2) only
B. (1) and (3) only
C. (2) and (3) only
D. (1), (2) and (3)

Under which of the following circumstances should laissez-faire leadership be adopted

(1) the work requires a high level of creativity
2) subordinates are young and energetic

A3) superior-subordinate relationship is good
A. (1) only

B. (1) and (3) only

C. (2) and (3) only

D. (1), (2) and (3)

On 8 April, Tin Ming purchased goods for $60.000 on credit from Walter with a trade dii%w.
Another 3% discount would be received by Tin Ming if settlement was made withi ‘m\ S. in' Ming
makes the settlement on 21 Apﬁl, A}le has to repay !

A.  $57036

B.  $58200 _

C.  $58800 - -
D.  $60000

END OF SECTION A
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SECTION B (30 marks)

Part 1 (20 marks) Answer ALL questions in this part.

High-Tech Company is a small and medium enterprise (SME) which specialises in developing data

processing systems for businesses in Hong Kong. At the commencement of each quarter, the project

manager and the programmers discuss and decide on the w of the quarter. Throughout the quarter,
they review the work progress regularly and identify ty€ difficultig8 encountered. Support is provided to

the programmers based on their feedback.
—/—\

(@)

(®)

Apart from providing job opportunities, state two contributions SMEs make

the economy of
Hong Kong.

(2 marks)

(@) State the principle of effective management adopted by Hi

{Tech Company in the
above scenario.

(1 mark)

(ii) Explain two advantages for High-Tech Company of adggting the principle of effective
management in (b)(i) above. . (4 marks)

‘/’\(g Nz
% gt

2, To finance the expansion of the business, Chan’s firm is applying for a bank loan. The bank requested

Chan’s firm to submit its financial statements of the past three years for its consideration.

(a) Explain how the bank will use the financial statements to decide whether to approve the loan.

— L —3
2 (2 marks)

Based on the General Manager’s suggestion, Chan’s firm is considering changing the valuation method of

its non-current assets this year. -

(b) State@accounting principle or concept that can be applied to this case, and use this principle or
concept to explain whether or not Chan’s firm should change the valuation method of its non-
current assets. (3 marks)

g3 David is 30 years old and single.

firm. He has just acquired a resi

He 'is a professioqal accountant working in an international accounting
dential flat and paid a down payment on the price of the flat. - To buy

furm;urfrt for his new home, he is considering using his credit card, applying for a personal loan or a bank
overdraft. e—7 —
S Sn—
(@) What is a ‘bank overdraft’? (2 marks)
(b) ﬁ:i]:lpo}?s Da‘(,li'(: ha.:;1 d idedtQ use mdit card to pay for the furniture. Give two reasons for
ghisicredit car Stead of/applying for a personal loan. (4 marks)
(c) List two financial needs that David has in his present life stace, (2 marks)
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Part 2 (10 marks) Answer ONE question in this part.

4.
(A)

(B)

Warmer is a famous company in Canada, selling thick coats and wool products. It is planning to set up a

branch in Hong Kong.
(a) State one social factor and one physical factor that Warmer should consider when setting up a
branch in Hong Kong and explain how each factor might affect its business. (4 marks)

Wendy set up a firm on 1 March 2020. All the transactions of the firm for its first month of operation have

been recorded in the following accounts:

Bank
2020 ' $ [2020 $
March 1  Capital 10 000 (March2 Rent 4000
March 16 Sales 3500 (March5 Equipment 3000
March 11 Purchases 2000
March 20 Purchases 4700
Equipment
2020 $ 2020 $
March5 Bank 3 000
Rent
2020 $ 2020 $
March2 Bank 4000
Sales
2020 $ (2020 - $
March 16 Bank 3500
March 25 Trade receivables 4500
Purchases
2020 $ (2020 $
March 11 Bank 2 000 .
March 20 Bank 4700
Trade receivables
2020 $ 2020 $
March 25 Sales 4500
Capital
2020 $ 2020 $
?
(b) ® Prepare the capital account and balance off the account as at 31 March 2020. (1 mark)
(ii) Prepare a trial balance as at 31 March 2020. (5 marks)
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(A)  Company A and Company B specialise in designing and building large shopping malls in Hong Kong,

They plan to set up a new busiessegether to carry out a construction project — buildinga shoppinig mall
in Causeway Bay. The project will last for five years and the new business will be dissolved upon the

completion of the project.

() Identify the form of ownership of the new business to be set up by Company A and Company B,

(1 mark)
(b) Explain one advantage of operating in the form of business ownership in (a) above. (2 marks)
(©) Explain one difference between a partnership and the form of business ownership in (a) above,
— e (¢ marks)
(B) Lucy has been operating a trading firm since 2017. The following account balances were extracted from
the books of the firm as at 31 December 2019:
$
Capital, 1 January 2019 100 000
Returns inwards : 4000 v
Inventory, 1 January 2019 10 000 v
Carriage inwards 8000 /
Machinery 145 000
Purchases 400 000 /
Other operating expenses 87500 /
Discounts allowed 9000
Carriage outwards 32000 ./
Bank 199 000
Returns outwards : 4500
Sales 790 000, /
There was no closing inventory at the end of 2019.
—_—
(d) Prepare an income statement for the year ended 31 December 2019. (5 marks)

END OF PAPER
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